5a. Complete the calculation.

6x 11
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5b. Complete the calculation.

9x12
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éa. Fill in the grid to find the answer.

X 7

10
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éb. Fill in the grid to find the answer.

9x11=

-

7a. Use >, < or = to make each statement
correct.

6012 66 =11
10x 11 7x12
12x 11 13212

7b. Use >, < or = to make each statement
correct.

72 +12 77 + 11
S5x11 4x12
99+ 11 108 = 12

8a. Complete the missing numbers.

X n = 22

12 X 5 -

n X = 0
8 X 12 =

12 X = 108

8b. Complete the missing numbers.

X 11 = b6

12 X 8 =
12 X = 12
8 X 1 =
12 X = 144




